HX B O R OH$ (k2556 A 1 B B7E)

FEER RS HIX FRRRRLS X
Hh[X 4 QLR aa el Hi[X 4 JLRE 4 a Elckal
% o | s | | & | #REK 7 | ke || B | & [#EK

1 =57 792|  885| 890 1,775 4 1 4 40 A H 264  342|  349| 691

2| A (fE) 1,036 1,227 1,280| 2,507 44 P 3 3 3 6

4 e 534|  558| 564 1,122 45 JH/ | 113 94 81 175

5 Jbs e <F 357 495 474 969| 32| 32 32 48 k= 408 440 511 951

6 UNE! 263 435 397 832 49 HOFA 299  329] 359 688

8| Al (fF) 356  400| 423 823 50 LD H 369 383 450 833

10 P 206|  203| 229| 432 52 [iE)7238 432|491 517 1,008

11 A H 53]  N\ENRE 462 448 563| 1,011

14 _E 6 12 7 19 55 oo B 358  390| 438 828

15| BAEHISE 1,238 1,507| 1,634| 3,141 56 R 258 264 323 587

16 FERISE 1,040 1,474| 1,517| 2,991 57 B i 172 197 207 404

17 W2 374  382|  440| 822 58 — 183 181 211 392

18 &7 R 335 444 446 890 59 N 208 227 250 @ 477

19 SR A 21 23 20 43 60| TG A 17T B 218 230 235 465

20 A H 1,191 1,400| 1,386 2,786 102| 102 102 61| mE1TH 115 124 141 265

22 FikF 831 997| 1,077 2,074 62| wmHE2TH 150 182 219 401

23 A 281 340 344| 684 63| mHE3TH 198 207 240| 447

24 HHN 892| 1,018| 1,124 2,142 64| mE4TH 71 89 82 171

25 VALl 65 /INRHHT 409 481 496 977

27 oKW TH 261 267 340 607 66| HrH 202| 235 243 478

29|  FHEHAE 15 15 15 67 = 111 126 147 273

31 L 88 106 102 208 68| TG 27T B 215 237 268 505

33 KL 311 372 395 767 69 SR 145 174| 202 376

38 YN 159 193 178| 371

9| AN E 144  202| 212 414 7t 16,094 18,829| 20,014/ 38,843| 138| 135 138




HX BN O R O S (k25456 A 1 H BL7E)

FEFRoR X FJEZR R
AR OB T AR I HUEHHE
H1 X A4 QLIRS Hi1 X 44 QLR 28

% LG 0 = S B N “ O %~ % | S| | & [ RE
311 BHB1ITH 484  480| 484 964 15| 15 15| [391| #AFITH 467 499|479 978
312| %2 TH 190 226 230 456 392| 2T H 109 111 112| 223
321 ME1ITH 438 415  438| 853 393 W31 H
329| fE2TH 667 684 689| 1,373 411 KRE1TH 376 399 419 818
323| ME3TH 451 499| 496 995 412| KM2TH 352 412 460| 872
331 PBHE1TH 573|  542| 518 1,060| 33| 33 1| 34| |413| XM3TH 2811  286| 277| 563
332 BAHZ2TH 392 421 440 861 414 A4 TH 395 395 415 810
333| BAM3TH 431 391| 426 817 431 WE/HTTT H 404  456| 491 947
334| BAH4TH 611| 640  767| 1,407 439| WE/HT2T H 854|  955| 1,068 2,023
341 R#1TH 756  761| 759 1,520| 53| 53 53| | 440 kS 647|  737|  764| 1,501
342| RMH2T H 316 367 354 721 2 1 1 2| | 451 EFW1TH 437 481 543| 1,024
343 R#3TH 401  467| 465 932 452| EFIR2TH 264 252|314 566
344| R4 TH 282 286 347 633 461 —XCE1TH 817| 1,049 1,072 2,121
345 RK#5TH 404  397| 484 881 462| —3XH&E2 T H 635  732|  746| 1,478
351 KM1TH 922|  876|  941| 1,817 4711 AHITH 44 54 67| 121
350 EM2TH 975 885 1,017| 1,902 472 AH2TH 219 283|290 573
353 KM3TH 706|  730| 795 1,525 8| 5| 3| 8| |473] S HS3TH 172 223 231 454
361 RAE1T H 283 279|240 519| 81| 68| 13| 81| |474| S H4TH 317|440 472 912
362| HAHEZ2TH 407|446  476| 922 475 AH5TH 265\ 319|344 663
370 b5 v < 581|  638| 614 1,252| 23| 23 23
381] AH1TH 205 291 256 547
382| AH2TH 707| 1,035 1,026 2,061 = 18,528| 20,199| 21,155| 41,354 215| 198| 18| 216
383 AH3TH 2911  360| 329 689 N 34,622| 39,028| 41,169| 80,197| 353| 333 21| 354




